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1) 3731l & Sfeleh AT T fordt gl ST &1

Who is called as ‘ Father of Geography *
a 3T Aristole b SYCITAAIST Erasthosthenese
c TS Strabo d ereldT Ptolemy
2) Frofafea & @ - warefa 7ct grr fAffa g2

Which of the following is the shape formed by a river?

a) fgdle  himodh b) SXWM  barkhan
) MR T oxbow lake d)hel Kandra
3) MO E I ®F 1 9@ g9 aigHSd & (4101 g 9Ny § 98T el 62

Which of the following elements is not helpful in the formation and modification of the present
atmosphere ?

a)ﬁwa:r Solar Wind b) T IFoIT Gas Emission
¢) fa¥e Discrimination d) U1 SN Photosynthesis
4) BT YT H YT oI BT b1 ifRebeR f fopan gRI gl 8
By which action is the work of underground water mostly done in cast regions?
a) 3{UXG1  erosion b)3Udigd deflation
c) TgYU  abrasion d) YeId dissolution



5) dRI &1 AT fba eRe oy gd gaime

How many billion years ago were the stars formed?

a) 13RI TYGE 1 billion years ago b) 33RE AN Yd 3 billion years ago
c)5 &R_daﬁftlﬁ 5 billion years ago d)8 maﬁqﬁl 8 billion years ago
6) Fw A Y I T Joft & Suiia &2
Which of the following are first class consumers?
a)m Goat b)‘\?f“\’ Lion
ol Cheetah d)dg3iT Panther

7) Qedl Bt SidRe WRd HR & AT H b1 Il 31y g2
Which elements are predominant in the formation of earths inner layer core?
a)ﬁn%maqrﬁrﬁw Silica and aluminium
b)fRifeTeT 3 AR silica and magnesium
c) S9Tee g AT Basalt and silica
d) fAfsA T AR Nickel and ferrum
8) fay & e HA Y UL WA &)
The tallest trees in the world are found in.
a) ﬁﬂﬁ?ﬂﬂ@fﬂqﬁﬁﬁﬁﬂﬁ In equatorial forest biome
b)mﬁaeﬁtruquﬁsﬂaﬁnﬁ In tropical deciduous biome
c) UM g SIaE | In temperate forest biome
d) ﬂ{qmwﬁ’lm—:ﬁaﬁﬁ In Mediterranean biome
9) GFP ¢U fhd UHR & IGR & URUMH §?
Deccan Trap are the result of which type of exclamation ?
a)?ﬂc_s' Shield b)ﬁf%[ Mixture .
c) UdIg Flow d)% Pool
10) HRA & SRR fIR BT 3feR b1 572
What is the difference of longitudinal existension of India?
a)e T 20 f&3  about 20 degree
b)aTHT 30 f&Ul about 30 degree



O)TTHT 40 F&UW about 40 degree
d)TTHT 50 f&Ut about 50 degree
11) wic fagde! Rigid o1 ufaure fega fear

Who propounded the theory of plate tectonics?

a) HRI1  Morgan b)ﬁa'o_\rﬁ Mckenzie
<) UR®X  Parker d)FTHIAIU  All of these
12) YR & BT YW BT IR A Sfe0r siftreras da gl

The maximum length of the mainland of India from north to south is.

a) 3214 fpdM e 3214 KM b) 3540 fH@HIEY 3540 KM
¢)2510 faHeT 2510 KM d) 2933 faHeY 2933 KM
13) Hdg- YRT Rigid feam faan

Who gave the convection current theory?

a) 3mR m Author Homs b)%ﬁ%ﬂ Harry Hes
c)aa'o_\rﬂ Mckenzie d)UR®HY  Parker
14) T &} I el GERIS 1 DI 82

Which is the longest tributary of Ganga?

b)TH Sone
d) I¥d Chambal

a)UTuRT Ghaghra

c) 94T Yamuna
15) E H A DH I TS MU @IC 52
Which of the following is minor plate?
a) URNid HERIFRIA WIE  Pacific oceanic plate
b)3TRI SARBI ®E  north americi plate
c)&'@ﬁﬂ:ﬂﬁf Australian plate
d)3RfFTT T arebian plate
16) Fafefad 7 9 oF I 7<) SeeT & I IR SaRAE 77§11 82
Which of the following river forms an estuary?

a)'_'IﬁET Narmada b)AEM4l  Mahanadi
C)W Kaveri d)‘ialai§ Godavari

17) P A A PeRaA U P aT] ?




Which of the following is the hardest substance?

a)w Calcite b)ﬁ?TS?CIT Feldspar
c)m Quartz d)®REH  Corundum
18) FARIRET H B A1 HRA T Gad a0 R G 2
Which of the following is the southernmost place in india?
a)gﬁ?TGTgE Indira Point
b)aﬁq@uﬁ’r Kanyakumari
) TMR®IZA  Nagercoil

d)TI'Ef%ITH Rameshwaram

19) YR BT Jo ST TAUUTd DI AT 82

Which is the highest waterfall in india?
a)§SE  Hundru b)del YTY Budha ghagh
c) ST Jog or Garshopa d) S8l Jonha

20. SIS o 3RS A ATHIATS & TET TGt H T fohey SHRoT gIei 872

What causes rainfall in the costal region of Tamilnadu in the beginning of winter?
a Wq‘ﬁmﬂﬁ\ﬂ north east monsoon b mmmﬁ south west monsoon

C YT¥asT fa8isT western disturbance  d  SAF T dIS A& none of these
21. FURT 3cTTGa o ToIT Fafasd HiT & AT g?

Which soil are best for cotton production?

a ol red bdTel yellow

cHTell black  doleXse laterite

22. T8y ¢ fohg AR A faRelr 82

In which sea does sindhu river falls?

a ST I @IS Bay of bangal b 31{d HT9X Arabian sea
cSAH TSl Both dSIHAGAT A Non of both
23. TGl Ief Tohl dXE & def & 3GIEX0T 72

Sandalwood forest are examples of which type of forest ?



aJuTgTdrdeT  Deciduous forest b HTdgIX dod Evergreen forest
c?oTlé’ dol Deltaic forest d HIEGR e Thorny forest

24. 3R N o HeTol & Tolel dTell S Td I Taie] Shgellell ol

Hot and dry wind blowing in northern plain of india is known as.
aﬁ?fﬁ Chinook b fATTar  Mistral

¢ o Loo d %t fohn

25. 318 @ Tl T & ek 1@ IRl ¢ |

Tropic of cancer passes through which of the following state.

aSIRES Jharkhand b3aX 9eer Utter pradesh
c[98R Bihar d33TET orissa
26.fondr 37&TTRI 9 21 [T <hT QI9gY I 1 el feheol gselr g 2

In which latitude sun is directly over head at noon on 21 june ?

a. faYad¥@r The equator

b. 2333t 30 Aae 3T 37677 23 degree 30 minute North latitude

c. 23 330t 30 TAeTe gfeTofY 31612 23 degree 30 minute South latitude
d . 66 33 30 fAsTe efayouft 3re1ier 66 degree 30 minute south latitude

27. AGHSH H & et A R 1 Tt FAFHAT IRaeler @ waftra g2

Which layer of the atmoshphere is associated with weather phenomenon
a &I HASS troposphere b dMT HSS thermosphere
c HET HASS mesosphere d STET ASA exosphere
28 aTgHS H ATSelotet I ol Ffarre fohcar g?

What is the percentage of nitrogen in atmoshphere ?

a.75.2% b. 78.8%

c.722 % d. 71.2%

29. S8 U PisT N 8137 AT 81 &2

Which of the following is not a green house gases ?



a. FIe 3‘I3’3ﬂc|~+ll$5 Carbon dioxide b. YT methane
c. FARIFARIGIST  Chloroflurocarbons d.3iTeFESTeT oxygen
30.3a8 Meresy & gaedAl &1 g 3R faarqor grarg?

Wind in the northern hemisphere is deflected towards right ?

a. dT9HT & $ROT due to temperature b.c[aﬁwqﬁ?r%w due to rotation of the earth
c. FSATH HRUT due to heating dSﬂﬁﬁaﬂé’H’gﬁ' none of these
31 AGTARRIT STl o SR AT AT 37T foha s HaTed &7
Upward and downward movement of ocean water is known as the ?
a od tide b &RTT current
¢ I3 wave d STH A RS AST none of these
32. 9dY Y Helg W IR aTel STef o & 1 g 8?

Water falling on earth surface in any form is called?
adYuT Precipitation baTsHIRIUT evaporation
caqﬁg?vr atmosphere dSTeldary climate

33.FgMERT Y 3T TauTaT §1
The average salinity of oceans is ?
a 30% b 34%

c35% d37%

34 fArafaf@a & @ i el Tt & argATsT &1 gafad T TohdT &7

Which of the following can influence the temperature of a place ?

a 37&TTY latitude bﬁ'lé’ altitude

cHHg Al distance from sea dTH @ all of these
35, TorraITaIaa & & e e &7 407 3 @WeR 3R SR 3 §7
Khadar and bangar come under which category of soil ?
ATl HCT red soil b a?ﬁﬁﬂ'aT black soil

C STellG e alluvial soil d IeTTSe FeT laterite soil



36. TAFAT&d & & a8 Pl Y Ifohan & a9 carT STl ga & 3 A sl ST 82

Which one of the following process is responsible for transforming liquid water into gas ?

a §yur precipitation b €I condensation
c ITSYTRIUT  evaporation dSAH A RS AST none of these
37. 9ehTer Ay fhaeT AT § 2

Which of these is the measurement of light year ?

a gH T time bi‘@ distance

cHUAcd density dSTH A RS AST none of these
38 3TIET Y& o AT ¢

Disaster management includes ?

a faror Mitigation bgﬂﬁ?:l‘l'UT Reconstruction
cJIaTH  Rehabilitation dsaa @l all of these

39 .faea 7 Y TERT AGIR 872

Which is the deepest ocean of the world ?

a%ﬁﬂmﬁﬂ Indian ocean b cdeH HGIHTI Atlantic ocean
¢ 3TTehfeah AGTATIR arctic ocean  d YT ARTHRY pacific ocean
40. AT T T SITeT AT JTed el 872
Maximum amount of insolation is received by ?
a AT TG &7 equatorial region  b3SUTH TN &1 tropical region
c ofrarsoT HfeatiiT 819 temperate region d %@'«’I?ﬁ? polar region



